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A train is on a straight section of track.  The graph below shows its distance from a marker point on the track, over a period of 60 seconds.


Which of these can you say from the graph?

Tick ONE box ()


The train went up a steep slope at first, and then a gentler slope.


The train travelled for 30 s at a constant speed.  It then reduced this and travelled for the next 30 s at a lower constant speed.


The train travelled for 30 s at a constant speed.  It then increased this and travelled for the next 30 s at a higher constant speed.


The train had a uniform acceleration for the first 30 s.  It then travelled for the next 30 s at a constant speed.


The train had a uniform acceleration for the first 30 s.  It then had a smaller uniform acceleration for the next 30 s.
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